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2t BINY =osS; : 40 + 40 + 40 = 120 | [ Total No. of Questions : 40 + 40 + 40 = 120

DT : WO
D2

Subject : SCIENCE
35 T,30000T0 BIRVR T STPT TLIROR LY, SERNRERY VCRRNT. OPYNTQ,

BOOIIRT LVZTTRY 02 ATOR VEBWINTOT 2.20.&5TF. ( OMR ) LT B8, 300D, WD w53
TR OO0 LR OF TR0t FIFROT OIS eI 0IR) B¢’ [RR 40 X 1 =40

Four choices are given for each of the following questions / incomplete statements.

Choose the correct answer and shade the correct option in the OMR Answer Sheet
given to you with a black / blue ball point pen. 40 X 1 =40

41, ORYNTY TOO0T,TCAT IO GTTTIY TR
(A)  RmRODE (B) T I,
(C)  FANFT RO (D) ™
g (C) FANFTT B0

1802 (KA [ Turn over



83-K/E (UNREVISED) 2

The conventional source of energy in the following is
(A) Sun (B) Bio-waste
(©) Natural gas (D) Wind

Ans.: (C) Natural gas
42, WOT FOBONT TTIED xo&% 13 SN3. ST eﬁwérﬁmo—-:gcﬁ@q 35 To30R)

(A) 13¢ 338 Feadg I B)  23¢ s[IFE FeadTI
(C) 3¢ w=SFE eI (D) 4 s[SFE Fedd T
evgo: (C) 33¢ ©mTrE BedoST

The atomic number of an element is 13. In the modern periodic table, this element

belongs to
(A) 1st period (B) 2nd period
(@] 3rd period (D) 4th period

Ans.: (C)  3rd period
43, TYBMT BT 38,0300, WEINEAIRMIT T30 WA

(A) WS Zws T (B)  TOWF® &R (T
~ ~

() wixs (D) FTER W TRI T

¢V3T: (B) TOWFI [emed T

The major gas released by waste incineration is

(A) Carbon dioxide (B) Carbon monoxide

(C) Oxygen (D) Hydrogen chloride

Ans.: (B) Carbon monoxide

44,  STOUT wwzr@ma&a@ TOWORATI0Z FOTNT TePIo00TT
(A) TOBONE TTBWREWNOE, ) BB T 00T TWNTOE émw nogc
(B)  To3on¥ ©odResses I8030 ST 39N Womod BT
(C) 20N Spedeodd Moy BNRFT 39N FNTOE BREOINPNIZT
(D)  TOBOMY LT, TFIONZOTN STBF T, [o00T WNTOZ FRRO0IRROZT
V3T (D)  TOBINY LW THRNIOIN BRFBFTY, 2008 TNTOZ FRBOINMITT
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The correct statement related to modern periodic table is

(A) the atomic size of elements increases across the period

(B) ionization energy of the elements increases down the group
(C) the metallic property of elements decreases down the group
(D) electropositivity of the elements decreases across the period

Ans. : (D) electropositivity of the elements decreases across the period

$YNT 03T ITORME), BRG,ROT Bearied STomswReDd DEFele FoamTS 9
(A)  Sercipe SToRAH (B) 3w ZSorirish

(C)  Deo3 STonmed (D)  SmEE0Se0 IToririehd
wgs: (B) 3w Iooried

In which of the following waves, the particles of the medium vibrate along the

direction of the propagation of waves ?
(A) Radio waves (B) Sound waves
(©) Water waves (D) Electromagnetic waves

Ans.: (B) Sound waves

TRNT BFOYTOT (TN

(A) 3TN, JUOT IPF, L0EITON, 0T

(B)  TOIMBERCS, IoF IVE, TN, PRTY
(C)  TOoNBREI, TOINWOW, 3TN, JF IVF
(D) ©0B, PRTT,, PRTY, ST I93

QVIT: (A) BTN, T IPF, WOWITOD, WO

The parts that are present in carpel of a flower are
(A) Stigma, Style, Ovary, Ovule

(B) Anther, Style, Stigma, Petal

(®)] Anther, Filament, Stigma, Style

(D) Ovule, Sepal, Petal, Style

Ans.: (A) Stigma, Style, Ovary, Ovule

1802 (KA
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47.

48.

49.

R8T AOTT'S YUT ST BRET T VTOIRENTL0 59T T

(A)  AOTTI), BIEXEROZ o] B)  RITTIY WVZNEROY o]
(C) B3R SVOLOTIRBOZTS (D) Bodeed, 83, VD 0RO
V3T (A)  ROTTI) TBAEAT o]

Coke is used in the extraction of crystalline silicon, because it

(A) reduces silica (B) oxidises silica

(@] forms slag (D) produces zeolite

Ans.: (A) reduces silica

mgz;@oﬁa 5363636 @Oﬁfa@@@d&@t %ﬁém@?ﬁw T3 TRTOD 333
(A) velelat:ple} (B) ,8p03

(C)  &VTIWI0IFO (D) Q03039 ATEONLD
QgT: (D) Q00T ITEONLD

The component that helps to shut off nuclear power reactor is
(A) moderator (B) reflector

(C) heat exchanger (D) control rods

Ans.: (D) control rods

BoNTHITTE, FOTOLTI MOLIVTEINEO
(A) 20T WERTY, BTRTOT TFTWIFNEY, AWRTI0TT T9F DT, 3
(B) T WeRTINSD, Q)@g@ddg RRCBHOINNT TOPBRWFNLD, WOVWOT JTo% ébmagx
(C) 20T WERTY, BTRTOW TFTRIFNE, WIOWOL ToF DTYI
(D) RTT WeRTINLD, ag)@gadd@v) BREBHBOZNT JPBRWIFNYD, TINT0ST oY
VSO

QIT: (A)  WOTL WERTY, DTRTOW JVBRWIFNTY, IRPT0ZT To¥ amﬁ

The salient features seen in a coconut tree are

(A) single cotyledon, scattered vascular bundles, parallel venation

(B) two cotyledons, vascular bundles arranged in a ring, reticulate venation
(@] single cotyledon, scattered vascular bundles, reticulate venation

(D) two cotyledons, vascular bundles arranged in a ring, parallel venation

Ans. : (A) single cotyledon, scattered vascular bundles, parallel venation

1802 (KA
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TR, 0T YOV T, 3, TORT To0F

(A) DR ) BRI

(B)  BRT BOFTeDeodd BOFOITY, 3,:FODTYN TOTEFRITTI

(C)  Fedr, e BB MY BOCRT T)BRETY, 03,60 TRBITT

D)  2IF° & AOBO'S went WORITOZ TWRBWOZTI

V3T (B) LB ATFTeDeodd BONOIT, ¢, IoNTY N BOBSF AT

The function of crankshaft in petrol engine is that it

(A) ignites petrol

(B) converts the linear movement of the piston into circular motion
(C) mixes petrol and air in proper proportion
(D) makes the piston move into the cylinder

Ans.: (B) converts the linear movement of the piston into circular motion

AT, ( Ethanal ) 9808 & 030D

0 0
A) —C—H (B) C—OH
H
(C) —OH (D) —&—H
0
evgo: (A) —C—H

The functional group in Ethanal is

W i
(A) —C—H (B) C —OH
I
() —OH (D) —N—H
0O
I
Ans.: (A) —C—H

1802 (KA
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52. FYNT BRCFTBIY, MR, FOCIRT WRCTBEROITY MOTOER.

050 E3FN0 -plov el (29
(i)  FoITT Teanshd (a) T3T IRME03
(i) WYTT BN (b) ST WMOedE
(iii) %&3@%71@?0 (c) RReos3T @d&d@ TRCTOE

A) () a (i) b, (i) c
B) () b, () ¢ (i) a
C) () c, () b, (i) a
(D) () b, () a (i) c
wgd: (B) () —b, (i) c, (i) a

Observe the following table and identify the correct pair :

Components of blood Functions
(i) Red blood cells (a) Clotting of blood
(i)  White blood cells (b) Oxygen supply
(iii) Platelets (c) Fight infection

(A) (i) a, (@) b, (i) c
B) (@ b, (@) c, (i) a
) (@ c, () b, (i) a
D) (@) b, (@) a, (i) c
Ans.: (B) () b, (i) c, (i) a
53.  WOOWS*T DFILCTTED T, 03RENT F, Le9RoDQ, BRTE e’ IRRT ST
(A) 1:4 (B) 3:1
© 1:2:1 (D) 9:3:3:1
Qwgs: (C) 1:2:1
The genotypic ratio obtained in F, generation of Mendel’s monohybrid cross
experiment is
(A) 1:4 (B) 3:1
© 1:2:1 (D) 9:3:3:1
Ans.: (C) 1:2:1

1802 (KA
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TID YT MWD VHOLD TS T3,3TRT T, €93, HeORICTIT SReBT FO0INT

(A) %@m@:& Slelevabi (B)
(C)  8,e000300 FOO303 (D)
Qo (D) FOF Foo0T

G X033

05 B00308

The metal compound to be added to the molten mixture of glass to impart yellow

colour to the glass is
(A) Cobalt compound (B)
(@] Chromium compound (D)

Ans.: (D) Ferric compound

T ceS T3TORRT,

P
W HoFTfT R B)
H H H
]
(C) H—CEC—(II—H (D)
H
H H
| | _H
owgo: (o) H—¢—Cc=c{
H

The structural formula of propene is

N

@ HoFTfT R B)
H H H
I

(C) H—CEC—(II—H (D)
H
H H

| | _H
Ans. : (D) H—(I3—C=C\H

H

1802 (KA

Nickel compound

Ferric compound

H H
\C/
H\J/E/H
H” h
? H
H
H—C—C=c{
| H
H
H H
\C/
H” NH
T
H
H—C—C=C<
| H
H
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56.  SR,3e0d 3,0300D oS OFEsNonT
(8)  adRROND 8,030 1nmkRIZs
(B)  HTBRe0T TR FOIRT TOTSFHOIRN BT RN GVBTZNoZES
(C)  TTRREVNT SR,FOVT’TY, OBRRTE WTRTT SRR,
(D)  T93C320 BOTYZoNTOZT

¢VZT: (B)  WT[REDIT TG00 TOBBFIOIRN TBRF BN YV Joroges

The main feature of nuclear reaction is

(A) electrons take part in the reaction

(B) nucleus of the atom undergoes a change and new elements are formed
(@] nucleus of the atom does not undergo any change

(D) mass is conserved

Ans. : (B) nucleus of the atom undergoes a change and new elements are formed

57.  ToBEFrS QXD Fen (V) 0B FFBENNYNTOE FoLos

A v, =42V, B) VvV, =42+V,

© Vv, =42V D) V

e

2V
o

evgo: (C) V, =42V,

The relationship between escape velocity and orbital velocity of a rocket is

A v, =42V, B VvV, =42+V,

o

© v, =42V, D) Vv, =2V

e

Ans.: (C) V, = J2 v,

58. 2,00 ,£9000 TRTTOTIES ,3,030030TY, SRCOROIT 30 THTFOTIV[I), BROVY,
Q0BT T3, £371% YVIDT/TT 0B 9T0 FeTOT WM

(A)  QBOSRELTE — SOQEWOIT (B) SI - 6%@@035@
(C) nwrexdbowl - 6%@@035@ (D) 0 - 8%@@035@

Q0T (A)  DECIRCLTT — BOLEWOTR

1802 (KA
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An animal exhibits metamorphosis and does not have exoskeleton. An example for
such an animal and the class to which it belongs is
(A) Ichthyophis — Amphibia (B) Crocodile — Reptilia
(®)] Chamaeleon — Reptilia (D) Tortoise — Reptilia

Ans.: (A) Ichthyophis — Amphibia
RO + TWITOI0E FER, BRLOT 83 — FBONT BRET T + ROWTT

B3 ToRC30RT 3,030030 FOTRNAT ToAL0IAT ReWeTTED
(A) Zn + 2HCl » ZnCl2 +H, (B) Zn + 2HCl —» ZnCl + H,
(C)  Zn+HCl— ZnCl,+H, (D)  2Zn+ 2HCl - 2ZnCl, + H,

Qwgs: (A) Zn+2HCl— ZnCl,+H,

Zinc + concentrated Hydrochloric acid — Zinc chloride + Hydrogen

The balanced chemical equation for this reaction is

(A) Zn + 2HCl » ZnCl2 +H, (B) Zn + 2HCl —» ZnCl + H,

(©) Zn + HCl > ZnCl,, + H, (D) 2Zn + 2HCl - 2ZnCl, + H,,
Ans.: (A) Zn+2HCl— ZnCl,+H,

TR0 FTZP daﬁﬁoﬁaaﬁg{ TRODTOT FToWF® xoojaagﬁt Iplevplesietsd

(A) QOCTIOE (B)  Woes®

(C)  oRPee, B’ (D) R 3ReHp Sl

evgo: (C) AR LT

An example for a carbon compound having branched chain structure is
(A) Methane (B) Benzene

(C) Isobutane (D) Cyclopropane

Ans.: (C) Isobutane

1802 (KA [ Turn over
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61.  33,TYTO TEIS TRCHBI, MOTOER

v

L 2 4
-

2
(A) AR P& BeeR (B) BT 0w, e0Dd
(C)  Rdreodd (D)  BOSHRHNET® TeddReme
QT (C)  WOO3RELOD
Identify the eye defect in the figure :
> X
N
(A) Astigmatism (B) Hypermetropia
(C) Myopia (D) Diabetic retinopathy
Ans.: (C) Myopia
62. T3 TOARCIONT BEFTEINTTY Medd
Fe + CuSO, — FeSO, +Cu ¥
Zn + FeSO, — ZnSO, + Fe {
Cu+2Ag(NO,), »>Cu(NO,), +2Ag
84 TEFTNTI T ReTNG 3,0I0Se0aL 00T 5,60 !
(A) Ag <Fe<Cu<Zn (B) Ag<Cu<Fe<Zn
(©) Cu<Ag<Fe<Zn (D) Cu<Ag<Zn<Fe

Qwgs: (B) Ag<Cu<Fe<Zn

1802 (KA
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64.

11 83-K/E (UNREVISED)
Observe the following chemical equations :
Fe + CuSO, — FeSO, +Cu ¥
Zn + FeSO, — ZnSO, + Fe {

Cu+2Ag(NO,), »Cu(NO,), +2Ag

The increasing order of the reactivity of the metals in the equations is
(A) Ag <Fe<Cu<Zn (B) Ag<Cu<Fe<Zn
(@) Cu<Ag<Fe<Zn (D) Cu < Ag<Zn < Fe

Ans.: (B) Ag<Cu<Fe<Zn
Q.. %smews& B.%. B[BRe &N TOBEFILO BN LN

(A) RS LVOTVTND (B)  &0eslo®
(C)  BOowNed (D)  TREIE QLONOTNED
QZT: (A) RO YLOMOTND

The part which is required to convert AC dynamo into DC dynamo is
(A) Split rings (B) Armature
© Brushes (D) Slip rings

Ans.: (A) Split rings
RO RO INTRT FPTEWID WTITTIRORTWTOTI 0T LS0TWITINTIT FPRTF e 39,9

(A) TRCEC 39, WOR (B) @@d@@&@ﬁ#
(©) optveptilntznd (D) & odec@FF

QIS (D) & RCLDFT

Gorilla and human ancestors are presumed to have evolved from
(A) Homo habilis (B) Australopithecus
(C) Ramapithecus (D) Dryopithecus

Ans.: (D) Dryopithecus

1802 (KA [ Turn over
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65. ROTT° eﬁabq ‘n’ AT @8@555@ N [RBELO ) 03T m&wa’% W3TF oBdwaN 6:503%

TREIXNO 2
(A) Q0BT (B)  Wecoos®
(C) B, VT[T (D)  @RFATE

QZT: (D) SAFIT

Which element do you choose as a dopant to make silicon an ‘n’ type
semiconductor ?
(A) Indium (B) Boron

(©) Aluminium (D) Arsenic

Ans.: (D) Arsenic

66. eS0T Aed WA TOBINFRY, TSVRBLO WIRIT TS
(A)  RRCITE (B) CewmaTnat
(C)  TIF oo D) A I

QgT: (B) Temaone

The device used to detect the vehicles crossing speed limits is
(A) SONAR (B) Radar Gun
(C) Rectifier (D) Scanner

Ans.: (B) Radar Gun

67.  TF.0.80.00) TedR, ¢TI’ 0 BNEFFOTL FoTET0T €03
(A) E50°. DT Q. (B) O=FF és_a)ai)@ﬁww 369,

(C)  3¥pcesen’ 8% (D) 3RV ITT

¢VZT: (B) OWITE 0,7 8,TW R’ 869,

The factor responsible for classifying HIV as a retrovirus is
(A) RNA (B) Reverse transcriptase enzyme
(©) Protein wall (D) Fatty layer

Ans.: (B) Reverse transcriptase enzyme

1802 (KA
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2,000 BRNAOT FHEAT 3)WFHdeS HAO 15 km s~ 1 RNz 3RO 3@@6 BO% 4s T,
BO0QTOINTT, RO &

(A)  2km (B) 6km

(€) 3km (D) 4km

@wgs: (C) 3km

An ultrasonic sound sent from a ship travels with the speed of 1.5 kms~! to the
bottom of the sea and returns in 4s. The depth of the sea is

(A)  2km (B) 6km

(C) 3 km (D) 4 km

Ans.: (C) 3 km

WRCIES AT 1 PV = K 11 N,TIOS WATED DO & wevevvnnrinnnnnn. .

TOFCTITONLD SRNG TORIND, LPF w0, TROD®
) ) ]

(a) ¥=K B) m=2zIt
(C) VI=K (D) r=j%

Boyle’s law : PV =K :: Graham’s law of diffusion : ..............

[ Symbols have their usual meaning |

A ==K B) m = ZIt

(C) VT =K D) r=

Ans.: (D) r= \/ZZ

1802 (KA [ Turn over
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70.

71.

2,00 288 2.2 %smm—g ﬁ@ﬁmeme@sdﬁ BRERY AGozmoN STONATN ﬁ@j@e&aewc"‘s
TRUWO30

(A) @556 BT (B) weﬁﬁ BT

(C)  TER, WOER, BT (D)  BIRRPQY,

WFT: (C)  QTER, WOBR WO

A small AC dynamo is connected to a galvanometer and gently rotated ; then the
needle of the galvanometer

(A) moves towards left

(B) moves towards right

(@] moves towards both left and right

(D) does not move

Ans.: (C) moves towards both left and right
%) 30D FFONT BRTIN ©FR T,VROTY, WPDH Tne B[RMD [T TIIN
00T 23U B3 53,8000 WELOITH TRER :IBY LW FoTED

() BOUE =Y IR TR IT BRI B,08

(B)  ©8R,eR0m0d 080 LIFTEIN TomPer AT SE0COT B8

(C) =TV NYNom B oo 'S T 8,8

(D) 88T 3082 G0 R ECOT B os

WgT: (B) ©ER,OMO 3080 WYNIN Tomeer AT 080T &,08

A person’s bone in hands and legs are grown disproportionately, and his jaws and

nose are protruded. The disorder he is suffering from and the cause are

(A) Dwarfism and less secretion of growth hormone

(B) Acromegaly and excess secretion of growth hormone
(®)] Simple goitre and less secretion of thyroxin

(D) Cretinism and excess secretion of thyroxin

Ans.: (B) Acromegaly and excess secretion of growth hormone

1802 (KA
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QRINTE_ 03T TOTININE §,0301 YVTOTTTODN, 2
(A)  BYLOT FTT B30T

(B)  ToQ0 WRRTIMOT)TD

(C)  TB0OROW0T efeﬁf%emef 3033008

(D) TREX %oé,sawdoe@éﬁ SOOI

WIT: (A) YR TS eIR08

Which of the following is not an example for fermentation reaction ?
(A) Manufacture of sugar from sugarcane

(B) Milk turning into curd

(®)] Manufacture of alcohol from molasses

(D) The raising up of dosa batter

Ans.: (A) Manufacture of sugar from sugarcane

2,000 QUF BOVT IR T TOBTFS
(A)  QUFETBO0OT LT, (B)  QTWFOU0T CdR0, 338
(C)  03?08,TTFOUWOT YVFTY (D)  VFEIBOWOT B30E,TBY

evgd: (D) SUFBIO0T AR08, 3T

The energy conversion that takes place in a heat engine is

(A) heat energy into electrical energy

(B) electrical energy into mechanical energy
(©) mechanical energy into heat energy

(D) heat energy into mechanical energy

Ans.: (D) heat energy into mechanical energy

1802 (KA [ Turn over
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74.

75.

76.

TemT xmme@sw@{ TOTRBEL FTOTEITWOT TP LFoNn

(A) SN (B)  =OTOIR
(C) BIAF D) T

FT: (A)  STOBRT

The part of the brain that is responsible for maintaining balance of the body is
(A) Cerebellum (B) Cerebrum
(©) Diencephalon (D) Pons

Ans.: (A) Cerebellum
ST BATIRCFT SWICRNTY, W TS TWROT Tod WHY TEYWT, T TOLEBIRRORTORI
WY MOTTFEE, 58,08 ¢33,339NTOI T

(A) BTG, (B)  3eZow),

©) BOTZE, (D) 63"%&)@?

o (D)  FTHWY

The remnant of supernova explosion that has huge amount of matter compressed
into a very small region of intense gravitational field is called

(A) Red giant (B) White dwarf

(@] Proto star (D) Black hole

Ans.: (D) Black hole
ERCTRCTTEITY ToROWE 0T

(A)  OTOT TEFT PLITHI), TeRORTO

(B)  &TOTZ) M9 ROTTFOQTE BTOT 3,33 WOTINN0T TR0 SIBTE, FoROT)TI0
(C) T, BT MYedY, WTWIOT B WOTONN0T TR THTHY, THRITYT1

(D)  ©WOSYTT WBOTINFEY, 3837 SRTTY, Frici0YTd

Qgo: (B) BTOTI), MPOD FOTTFOQTE STOOT T,BT WOTONN0T TR TTHY,
TR

1802 (KA
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Calcination in metallurgy refers to

(A) increasing the desired component of the ore

(B) heating the ore just below the melting point in the absence of air
(@] heating the ore just below the melting point in the presence of air
(D) removing the impurities present in the ore in the form of flux

Ans.: (B) heating the ore just below the melting point in the absence of air
ORI rbsaéb TOTEMIT 0T 0ITY 60336 BRR ST, SeTwoN 8T zﬁeaﬁ@@ﬁ%ﬁ
DMOF T TBRBOT F0Z, 2303

(A) ©OMD0Z (B) R03T
(@] Celoplercteliel) (D) STR,I xoeéj

QWgT: (C) BoUOZOeTTEd

A technology in which a desired trait is selected and introduced directly into a new

plant variety is

(A) Tissue culture (B) Hybridization
(@] Genetic modification (D) Cloning
Ans. : (C) — Genetic modification

BT R T FOWORATIOZ TOCINT FRTF FoT tLeeEs
(A) ORIT -G, MIT - ERRT

(B) ©RII-OIT, T -F R

(C) ©RIT-Feean’, e -MmT

(D) ©ORFT-FLERRT, MIT -F LR

VIT: (A)  SRYD -FPROT, MAT - LR’

1802 (KA [ Turn over
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The correct complementary base pairing with respect to DNA molecule is

(A) Adenine — Thymine ; Guanine — Cytosine
(B) Adenine — Guanine ; Thymine — Cytosine
(@] Adenine — Cytosine ; Thymine — Guanine
(D) Adenine — Cytosine ; Guanine — Cytosine

Ans.: (A) Adenine — Thymine ; Guanine — Cytosine

79. ) wOOD 19, TEITE, STPEDFON DOILEL TBROTI QT QLPBNY ROOF)
(A) TR, BREOT Y, FT ©=),
(B) 3568033 09,3369, SRS TV
(C)  FWFAT &), FOROT &
(D)  RReROI0 BRET T T9,369, 9, T AU T 139,39
eVZT: (C) TDWFIT SR, PomOT &,
The group of electrolytes which dissociate almost in partial in their aqueous solution
is
(A) Hydrochloric acid, nitric acid
(B) Sugar solution, distilled water
(@] Carbonic acid, phosphoric acid
(D) Solution of sodium chloride, solution of copper sulphate

Ans.: (C) Carbonic acid, phosphoric acid

1802 (KA
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80.  3RETIW WZ,TY ‘a’ o MOTOSATO (PPN THOIE

> L
(A) QeOT TMEFFEOR L0008, €9 (B) Q0T momoedd
(C) 58 AMedFdd VO30T, 69 (D)  ¢3T00 ToNoeds

QVZT: (D) ST WMET

In the given figure, the function of part labelled as ‘a’is

Q

(A) Regulation of passage of water (B) Conduction of water
(@] Regulation of passage of food (D) Conduction of food

Ans.: (D) Conduction of food

1802 (KA



